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~ Write the value of P(An B).
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1 kg of food X costs # 16 and 1 kg of

Y costs ¥ 20. Formulate the LPP so
determine the least cost of the mixture
containing the required amount
vitamins. )
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(b} Construct the multiplication table X; on
the set {1,2 3 4,56}. Also find the

inverse element of 4 if it exists.
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e (c) Let R be a relation on theesetiR”of real

f numbers such that “ a-b is an
integer. Test whether R is an equivalence
relation._IfsSe Mind‘the equivalence class
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2tan"'(cos x) = tan "~ (2cosecx)
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Find the differential equation ef
Bltve y = ae* + be*.

J = ae®* + beS QQQ Y9eR ANRRET & 4
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6. Answer any three questions :
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Examining consistency and solvability
solve the following equations by matrix
method : | - |

x—-2Yy=3
3x+4y—z=-—2 |
5x-3z=-1 :
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x-2y=3
3x+4y-z=-2
5x-3z=-1
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1. Answer any one question : 6

caelad 691G 99 K8 9 :
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